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I.  Choose the correct answer.                                                       8 x ½ = 4 marks 

 

a)  10 minutes  =  ______ seconds (600, 60, 1000) 

b)  C.P. = R.O 100.000, S.P. = R.O 80.000   Loss = R.O ________ (180, 20, 80) 

c) When the time is 1:35, the minute hand is at ________  (1, 3, 7) 

d)  6g 300mg =  ___________mg (6300, 60300, 630)     

e) 15000 l =  ________kl (1500, 150, 15) 

f) The length of the road is measured in ______ .    (hm, m, km) 

g)  Which of these is greater than a gram?  (kg, mg, dg) 

h)  Profit = S.P. ___ C.P. (+, -, x) 

 

  II. Convert.                                                                                   6 x ½  = 3 Marks 

 

a)  126 seconds = _______ minutes _______ seconds  

b)  9768 ml =  ______ l  ______ml 

c)  6 months 5 days = _______ days 

d)  5:30 p.m. = ______ hours 

e)  3.05 km = ________ m 

f) 1350 hours = _______ p.m.                                                  

 

 



 

    III. Solve.                                                                       4 x 1 = 4 Marks 

 

a) Add. 

 

1) 72 km 385 m  :  6 km  172 m  :  12 km  400 m 

 

2) 8 hours 20 minutes and 3 hours 15 minutes 

 

b) Subtract. 

 

1) 3 years 10 months from 10 years 11 months. 

 

2) 812 m 32 cm – 157 m 19 cm 

 

    IV. Do as directed.                                                                                  5 x 1 = 5 Marks 

 

a) Find the time interval between 8:00 a.m. and 3:30 p.m. 

 

b) Find the C.P. if S.P. = R.O 600.500 and loss is R.O 70.500 

 

c) Find the time 4 hours before 12:30 p.m. 

 

d) What is the loss if S.P. = R.O 1084.000 and C.P. = R.O 1600.000? 

 

e) Find the S.P. if C.P. = R.O 7000.000 and profit is R.O 840.000 

 

     V. Solve the word problems.                                                            2 x 2 = 4 Marks 

 

a) A book seller bought books for R.O 1425.000 and sold it for R.O 1850.000. Find 

his profit or loss. 

 

b) Ram bought 78 kg 500 g of rice from one shop and 48 kg 750 g of rice from 

another shop. How much rice did he buy? 

 


